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QUESTION 1

What is the notation for gates? 

A. circular disc at the interaction frame 

B. small arrow either into or out from the fragment frame 

C. point on the fragment frame with an optional name 

D. small rectangle on the fragment with associated name 

Correct Answer: C 

 

QUESTION 2

How many arrows can point from a flow final node? 

A. one 

B. any number 

C. none 

D. two 

Correct Answer: C 

 

QUESTION 3

When either a message m or a message q is to be sent-but not both-what kind of operator for combined fragment would
be used? 

A. var 

B. break 

C. opt 

D. par 

E. alt 

Correct Answer: E 

 

QUESTION 4

What is true about the composite structure exhibit? 
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A. Every instance of X must be connected to an instance of Y. 

B. All instances corresponding to x and y will be destroyed when an instance of C is destroyed. 

C. Every instance of Y must be connected to an instance of X. 

D. C has at least two properties. 

Correct Answer: D 

 

QUESTION 5

If the node in the exhibit receives a value, what happens to other values flowing in the diagram containing the node? 

A. nothing 

B. They stop for a time specified by the small circle. 

C. They are aborted. 

D. They stop until the small circle emits a value. 

Correct Answer: A 
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